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Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
What do you understand by integrated 
learning ? How does this approach affect content 
selection as well as teaching strategies ? 

OR 
What are different types of integration that you 
practice while adopting teaching-learning through 
integrated approach ? Discuss with suitable 
examples. 

2. Answer the following question in about 
600 words : 
Enlist the strategies, which you can adopt for 
practicing integration in a large classroom. How 
will you use "team teaching" for integration in 
your class ? Explain with the help of an example 
from your teaching subject. 

OR 
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What do you understand by experiential 
learning ? How will you use 'Survey' as 
experiential learning strategy in your classroom ? 
Explain with example. 

	

3. 	Answer any four of the following questions in 
about 150 words each : 

(a) How would you differentiate between active 
and reflective learner ? Explain the 
characteristics with examples. 

(b) How would you access your readiness to 
use integrated learning approach ? Discuss 
various criteria. 

(c) Explain the Gardner's theory of multiple 
intelligence. 

(d) How would you select a theme for a project 
in your subject ? 

(e) Prepare a web-model for integration of 
various subjects with any one topic of your 
choice from your teaching subject. 

(f) Discuss role of a teacher in integrated-
teaching learning approach. 

	

4. 	Answer the following question in about 
600 words : 
Identify a topic from the subject, you are teaching 
at your school at primary level. Write down the 
steps for planning an integrated learning lesson. 
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